¢ ari=-l o FH#-A+20)2-i) "t Fa+biz AN > B g b LA B Pla+rb=2

(A)-2  (B)O (©4 (D)7 [114C01])

Ans (D)



SAAABC ¢ 0 LA GE A R T Akt e B R Y
(A) AB+AC=BC (B)|AB|+|AC|=[BC| (C)AB-AC=0 (D) \EHA—C\ZO [114C02)

Ans : (C)



TR A S f () =X+ 2X -5 hF F ik ?

4 4

4 4
A+ -5 (B 205 (O +X =53 (D)7 +x' -5 [114C03]

Ans : (C)



3% f tan 2025° +sec 2025° = ?

(A)-1-V2  (B)1-V2 (O)-1+V2  (D)1+42 [114C04)

Ans : (B)



a

J2 -1

(A6 (B)S (0)4749 (D)? [114C05)

#3+242 = +b(N2-1) > #¥ a~b s F i plai-b?=2?

Ans : (A)



ke RN A pH=—log[H"] » # ¥

[H'] 5 cnd g+ R aE = 2/,

BloEd 3p24 | @Fppaiplaa KpH el B2 - 245 PRAIDEHET EEE

JERa PIEPIRPRFIERAERCEYL

(A)1.5q
(B) 3a

(C) 100a
(D) 10004

Ans (D)
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F¥I-2,a,b,7T*E L3 " HIa,b,p,g > E VKA Rlptg=2?
(A)60  (B)70  (C)80  (D)90 [114C07)

Ans : (C)



F#F R Bh(sinl55° —sin55°, 08222 °—cos122° ) % A % 1L ?
A - ®B = (©= (D= [114C08)

Ans : (C)



carkERE 2 - A AN X HkK=K-3F A BEFERIT  F Ak fROFEF LR
(a,b)> Blb—a="?
(A4 (B)6 (CO)8 (D)10 [114C09)

Ans - (C)



B0 A A ek o ETIT A

Nz TR R RS Ao BT 0 BT A

PR— 72 B3V e ZoREET RS D

2X—Yy>6 2X—Yy<6 2X—Yy>6 2X—Yy<6
(A) (B) (©) (D

X+y<8 X+y=>8 X+y=>8 X+y<8

[114C10]
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L

Yo @g A TAERCAR(Z)? RRT c Fliar BEE Z4E =L BTG M

y I:y2=8x

[ engeit e & & g 9
(A) 4R 5(1,0)  (B)* 4254 5 y* =6X

(O)EEL 2 D)®Exm 5 x=-2
[114CI1)

Ans © (A)



B f(X)=2X-3X* —12X+1 T 5| oRB R AP 5 5 vEH 2
A)(-2,1) B)(-1,2) (©) (-, 1) (D)(2,,) [114C12]

Ans (D)



Ex—a-~ yobimeaw) XTI B0
4x+5y = 2025 b

(A)[s —4}{114} (B){—s 4}{114} (C)F 4}{114} (D){—s —4}{114} [114C13)
—4 3 |2025 4 -3|2025 —4 32025 —4 -3/ 2025

Ans : (B)



KA1P9PBNad BAPpR O HE A PR OBREPES- Be 8o 28 3 BHHH 4pa8
2 i 2APHS o PR R IE R e ek g BB
(A)120 (B) 480 (C) 720 (D) 800 [114C14)

Ans : (B)



DA R 3xn bR B G kx4 REL S R T Ak e DA 7

(A ABF & & Rln=k
B)yFA+BF & &> Aln=k

(CO)F AB3 &> Rln=32 k=4
D)FA+BF & Rln=32 k=4

Ans * (A)
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500
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SATd BTGt Z 8 A(1,4) B(-3,-4) C(5,2)M % - BE A2 £ doBlHA 0 BN

TP K 5 AABC it ARsS 9
A(1,4)
(A) (x+1)*+y*=20
C(5,2)
(B) (x+1)*+y*=25
O (x-)*+(y+)*=20 B(=3,-4)
[114C17)

(D) (x-1)° +(y+1)* =25

Ans (D)



TG be 2O, P, A(1,2),B(~3,4) 27 O5L RE> "EP LREAB > 4

Bl © % AOAP 16 44 © AOBP g 44=2 17 RIZ: P endifh 5 @ 2 B(-3,4)

122 19 32 p
(A) (9, 9) B)( 5 9) A(1,2)
—23 24 13 6
BO(—.—) O [114C18]
5°'5 5'5 5(0.0)
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@ e AABC® » AB=22 ZC=60°- % AC:BC=1:3 > B AABC s f % 7 ?

23 33 43 53

(A)7 (B)T (0)7 (D)T [114C19]

Ans : (B)
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3 C BRi AR o oS 0 © ArA~Bs CZ 8t h2 Mendjes 1028 o o

ZACB=60° > f] A ~B & BLenpedr 5 5 0 22 9

(A)5V3  (B)10  (0)1043  (D)20 [114C20]
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(A Ly ez > pl0<a<l
(B)x Leny £ § > pla<-1
Oy LenF s »pla>2

g Al Y , H
D)# Lenat s 5§ > pla<0 [114C21]

Ans : (A)
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